LEBANESE AMERICAN UNIVERSITY
Department of Computer Science and Mathematics

Calculus III

Exam II
Fall 2012 (December 3, 2012)
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1. (32%) Consider the following series and determine whether they converge or diverge. Show work and
mention the test you use.
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2. (24%) Consider the following alternating series and determine whether they converge absolutely, con-
ditionally or they diverge.
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3. (16%) Consider the power series: rM..U,_ S

(z-7)"

(a) For what values of = does the power series converge?
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(b) Set £ = 5 in the power series above and approximate/estimate the sum with an error Of No
more than 10-3 . (in other words, how many terms do you need to use to reach that estima-

tion?) — . V\%
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4. (8%) Find the Maclaurin series for f(z) =

have seen in class)
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5. (8%) Same question for
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6. {12%) Consider Mﬁ S:.I(HIH,TMIWI.+I_I%+

nx=0

(a) Find the exact sum.
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{b)} Consider the estimation: MUAIC.HW ml-1l4+=—-r—-4—=. =
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1. Find the exact error.
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2. Find the estimated error.



